
Tlio fi)r,ii\vlii^' fij;. ,"i is iidt ((uiir Mil siiii|iif, liiil it is priibiiWy a bctler

armnsrciucnt ln'oiiusc no twu froj;scoiuc opposite ouo othiT, ami tliorc i»

D) point on tiio main lini' unfiotcetcd bj- a i;«'ii(l rail as tliorc is in

fi,'. 4.

Tlio fioi; in north rail, fiu'. 4, boini; 1 in 8 from (>.|ualion (2), wc at t

:

F = 2 Nd r^ 2 8 X 4.7 := 75.2 It.

from ^4; S = 29 F — 75.2 .29 = 2,1.8, say 22 ft.

(5) L = K_S == 75.2 X 22 = 53.2

(7) 1) = S7 1^" = •"" ''^{""^' - !).°49or9° .30' nearly.

NoWj'to dotcruiiuf ilie position of tlie third fiojj, which is not now in

tlie ccntro of track. Tliu tan^i iiti:d off-*ot fw the .-outh curve is as

iil'ovc, 5.3, for ll ( noilh 8.:!. If F (jo tho fio<; dislan. ? on tbi> north
line, Fit; will be tliiit on tiie Miiitli, tiie >« itch being C ft. Ionizer,

Thi.^ we may s.iy, before ;,'oinj; fiir lior. involves no difficulty in prac-

tice, the spikes on tho north side being rlriven ft., or 3 tie."!, nearer
the tijc than nn the south.

Now we have for the distanee of tho frog from the north rail the

expression 5.3
\^

100 /
"

from the south rail the expression (i,.,,|l x 8.3

But the sum of these two is the fzaiige.

Whence we get tho equation :

—

Simplifying— (F' + 12 F + 30) 5.3 + 8.3 1-^ = 47000

13.6 f ' + 63.6 F = 47000—191 = 46809

F>+ 4.68 F + (2.34)' = 3442 + 5.5 = 3447.5

F+ 2.34 = 58.71

F = 56.4

F + 6 = G2.4

L = 34.4

This determines the Idntiitudinal position—substituting the above

values^in the expressions

alucs.
/ F + 6 \^ / F V
(' TcTTJ " *•' ''"''

1 100,^ ^••'~''' ^"' "'" '

Distance from XorthiRail 2.06
'• " South ' 2.64

4.70

The angle of the frog will be the sum of the deflections of the two
turnouts.

"- Wo'''-' '-^ "''-'

15J6F+36.6

leo
9.°16or 9"10'

A No. 6 frog, jiinclied ;i little with tl!i> crow or mil bender and with

the point set back a tiiflu from tlie tlieoieticiil as obtained above will

fit the place quite well in jiracliee; but if we wish to be very exact
about it, tlic following; analysis ol'the problem in Fig. 6 a double throw
both on same side of main line will suggest a means of c deulating.

This is not a couimi u combin;itii n, but ii aetually,or rather one almost
identical with it, occurred in the wriier's pi:ietiee. One turnout was
for a main siding and the other f.r a V, and in order to save room and
switch frames iiiid uiinece.-sary eonijiiieation it was decided to start both

from the same headblock. The main turnout was alnady laid with a

67 it. lead and a 1 in 10 frog, as in Fig 3. We had on hand a No.

6 and a No. 10 frog, which we desired to use. Putting the 1 in 6

first in the main line we get from eq'iation (2)

F = 2g X N = 9.4 X 6 = 56.4,


